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Math 268, Quiz #3, Spring 2012

Instructions: Show all work. The problems should be done by hand. You may check your answers by
calculator, but answers only will not receive credit without work.
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1. Find the determinant of the matrix | 0 1 -1 -2 by the cofactor method.
g 2 3 1 -
-3 0 9 -1 -
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2. Ifdet(A)=4 and det(B)=3, find the values of the following expressions if A and B are both nxn.
a. det(AB) 12 e. det(3A)

3%y
b. det(A™) f. det(BAB)
2 4
c. det(A’) g. det(A") Y
o4
d. det(-A%B") h. det[(AB)"]
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